s L AssE
RBSE BOARD ARRMA TUTION CLASSES () Lef’s Rule T

FRCJﬁAQ;LlT'Y [Fﬁt VIioUS ¥epR 2015- !9]

CLAss - X7

D one card 55 drawn Puom a wel Shuffled deck %52_ Casdls, Coloulate +Hee probabily
Hot the o will not be an ace . [ Rese 2ois)
Sol - mwm ‘Haot,
Tot+od no-uz.g coro3 =
Totel no- mﬁ aces = 4

So,  P(getfgon ace)= Mo @fae = 4 < |

+o-fel noﬂca&amds . 13

2 P(not geﬁ-?ng an ace)= |— P(get an clee)
- -1 =12
13 13

@ Nmﬂ«ojcwd Dheensy ose \gwewb Fluel e PYO@Q@*'H&C% Hfr bwmmﬁs usdhen
) ewﬁww&;s aue digfeent

) BITW awe some .

Ho| Lef A denpote the erWWaauwso.me b,w\% ’
Oufl B denote +ue euent fhast flly Wobﬁz@wwm b%—M_ay

Q) B tuey haue S anw b?’rf—f».ia;/

Scanned by CamScanner




Thonefore | Hie no - @f o323 Pn fovounable ef suent A =
Rﬂ?uf’\f&d oa“robo,b?ﬁ’r}) P(A) =1

365
AS, we Fnow W)
p(AY+ pcB) = |
4 rg) =
365
- ] = 36Y
=. i —_ -
P(8) 365 36 S
Toen FP(B8) = 364
36S

% 95 not+ a +ail,

G o
o 5 =0 " vobabt lihy tech )
@ A win s tossed onee . Fiud P 17 [ rése 20(¢ ]

Sol  Oituen fueck
A Cz?n Ts +ossed e
tien  ewend WA e K W, T}
Toted euont = 2
P(E) = no-wp few ewent _ |
dotd ewent | 2

Scanned by CamScanner



@ A P?aaﬁ bank con—fain  bunduad Le1NS @af pRs |, 25 LoTns o Rs 2, (5 oS s
® Rs 5, (O (NS o Rs (0. I% "o eeiwﬁ,%{ fﬁq/% ot ome SN wlff
$all | pshen e bank s fusneo] upstie  doWN  (olad 15 probabiiity fpad-

® ’ Q_O(C'»‘:)
e win - o 08l pot be o Rs S on [ REIE
oy whi be o RS 2win (v W

(o)
So) Ghwen twat , po-ay | RS diR = (00

Zn o= 2S5
oo of 2 Rs O

°, = |5
s onh =
No.% 5 R

UU:r\—: |50 Total u,.?n5=!‘5'0
o og 10 FS ’
8) PCE) = :@MW
- (g)=25 =L
Wil e o RS Z O, Fee) (so 6

1 ® pe a SRs wn- IS - A =
(-l et % & o, PEI=L
e know et _
prg) 4+ £(not &) = |

| 4+ P(rotz) = |

| O . | 9
o ) = |—L =2
P(not E) = E >

Scanned by CamScanner



S pEs probo}gl?ig o not € = 095 then find P(E) [(rBSE 2013 )
- vobabs (111 ex pYession
ol Simplify P Yy xp

wee. knew duact
pce)+ P(E) = |
P(E) = 0°9S
PCE)= 1— P(E) |
= |- 095 - 0 05 o

+e S een mosbles. One
@ A box (m—f-a.?h T yeol mouchles | O u;uLu? mMmecuth(es el gy M s
7 ()
08 5 o ken st @f He bOX ot Famdom W.sm ﬁrco/ba,@;-/},“ Huat
- MLM token oot wdll be - LeBsE 2007 D0 e vest iy WidHe | (i) Bivean 7
He ™M e .

[«
Lol Ymplify tte,  expyeision
PFH ’ ’ u;\'mhes:lo+?#-+5:22

i S Z‘S
(?) To+al r\o'CQ,& not yed pall = | © + i : .
P 06@9310‘"’}( 36’!’13‘1&5 o ball uslych 1S NOAt = _91
‘ Yed ) ' |
(‘,;) No - Qp- usuwoﬂ ball =0 (0 o @ gvean bast = S
p( usWie bak) = 1° | e it < 5
22 RS reen =

Scanned by CamScanner



@ A die |5 Hewwn N, Flual e @yebcdﬁ(?w m{; ge,ﬁ?,ﬁ an odd SO [utSor ,(PB?E 7018)
So). Totol owdomes that- can occurn o 1, 2 3 Y &

4 )
pao - o foss?l;!e_ o ttcome G% cL clice = G
po. wlich ane odd = 1,3, 5

G

F(EY: 2 =

A
6 2

. In o bo% gne Wit bkl , huo black ball cwef -Hirewe Yed balls @ m Same Size

W placd - A pall s -Hu_w-au—n o:t- ¥ amdlom ‘ﬁwm +ufs bag. . Elud fhe PYO(‘“b”'p
')-F&&L pall Ts  wsdd

L") te. badl s not black (1) e bodl Ts yeol
Total wno- Q{S ) posﬁnbte dputdwme - [+ 243 =
[

(h oo white padd <

So|

P(ge)r«ﬁug a oGk ball) = 1
G
Q‘() e pall thet ore WO+ blade

- (+3=9Y
P("‘O’f‘jeﬁgu.g_q black haad) :ifé—
@) WMo @p ved palts = 3
P ( gettivg cived batt) - 2. = L

Scanned by CamScanner



® Two f’[""va@w A ad B P(O#e,d a clhrh Mmateh Tt (s gu\u.n that tHue a:voba,bﬁh-/y_

of Uvuﬂnwg, the match by A s S/¢ . Flual e Pw%a&ltfa_ of winniug e
motc by &_  [RESE 2019)

Q
3ol - Oiven f’(uﬂnnqru%m m%n\:%
PO v bp8) =9
F(p)+e(B) =
F(8)=(-P(P)= |~ 5 =
6 4
P(B) = L
G
.Abozg,cvn—#cuf\s(SCOWT&Qnofzgt{ |9va‘iwmm~n’—\w?s
Aawn ot yaundom \mem bag - T‘(Lu;{m Fr@%db—\lrymi—w m e casd ?s_
O a pYIme no- ) @ no. Sidsiple &U 2 e

So| T—OMM-&%leS

Px%oﬁiﬁy_%w “6@&« gw"ime ho- blw [ 99 |15 —
Pr‘?me w- (2,3,S,F ll)l'é)

buo - oL(Luslue é,gz_ (2 Y, 6 S (o (2 (g,)
Q) F( pfime no Y =

6 a .
= U') F'(gd—'hug a wo. diwssible by 2) = F

=
S 05

Scanned by CamScanner



